Rozdziat 1 - ROWNANIA KWADRATOWE

1 | (x-4)°=(x-4)(2x-1) -X°+x+12=0 Z={4,-3}
2 | (3x+2)*=7(3x+2) 9x*-9x-10=0 25
Z:{—gyg}
3 | (x-3)"+(x-2)*-(x-1)*=0 X°-8x+12=0 Z={2,6}
4 | (2x-1)*-6(2x-1)+5=0 2x-1=k  k°-6k+5=0  k;=1 lub|Z={1,3}
k2:5
5 | 3x(x+2)+(2x-1)"=1-5x 7x°+7x=0 z={0,-1}
6 | (x+1)(x-1)+2x(2x+1)=6x" -X°+2x-1=0 Z={1}
7 | (3x-2)°-x*-2x=1 8x°-14x+3=0 13
(3x-2) z=(1 34
4'2
e VA YA Yy e 2oy o
8 | (1-3x)"+3x-4x°=9 5x°-3x-8=0 Z:{g,—l}
9 [(2x-3)°=8x 4x*-20x+9=0 19
(2x-3) z=(1 93
2'2
+1)°=(x+2)(3-X)- 2x-3=
10 | (x+1)"=(x+2)(3-x)-2 2X°+x-3=0 Z={—g,1}
11 | (4-3x)°=16-3x° X2-2x=0 Z={0,2}
12 1, 1., 1., 2, 2 2
—(-X-=)"-(X-=)(x+ =)=x 33X+ —x=0 Z={0,-—
( 3) ( 3)( 3) 3 { 9}
13 | (x+4)°=5(x+14) X°+3x-54=0 Z={-9,6}
14 | (x+3)-(x+4)"=3x" 3X“+2x+7=0 7=0)
15 | (x+1)(x-1)=(x-1)(3-x) X2-2x+1=0 Z={1}
16 | 2x°+9=(x-4)*+14x X*-6x-7=0 z={-1,7}
17 | (x-4)°=9-8x X“+7=0 7=0
18 | (x+3)*=3(2x+6) x*-9=0 7={-3,3}
19 |(3x-2)*=8(x+1)*-100 X°-28x+96=0 Z={4,24}
20 |(2x-3)°-(3x-2)°=5 -5x°=0 Z={0}
21 | (x-2)"=x+4+2(x-5)(x+5) X“+5x-50=0 z={-10,5}
7 +00=
22 %x2—4%x+15:0 2x%-27x+90=0 z:{e,%}
23 | 2(2-x)*-(x-2)(5+x)=0 X°-11x+18=0 Z7={2,9}
3 2_ 1=
24 | (X+1)°=(x+1)(x“-x+2) (x+1)(3x-1)=0 Z={- 1,% }
25 | (2x-3)*-3(x*-3x+4)=7 x°-3x-10=0 Zz={-2,5}
26 | 2(x+4)°-5(3x+7)=x"+3 X“+x-6=0 z={-3,2}
27 | 3x*-5x+48=2(x+2)" x°-13x+40=0 Z={5,8}
28 | (x+3)*+5x°=(x-2)° X“+2x+1=0 z={-1}
29 |(x-6)“+x°=x*-17x+30 X°+5x+6=0 Z={-3,-2}
Z 7_ Z Ob—
30 | (2x)*-(x-5)"=0 3x°+10x-25=0 7={5, % }
31 |25-(2x+3)’=0 (5-2x-3)(5+2x+3)=0 Z={-4,1}
32 [(x-1)*-9=0 (x-1-3)(x-1+3)=0 Z={4,-2}




33 | (4x-5)°=4x"-9x+5 12x%-31x+20=0 7=(1 % J % )

34 |2x*+9x-5=(2x-1)° 2x°-13x+6=0 7= % 6

35 [49x*-(2x-5)°=0 (7x-2x+5)(7x+2x-5)=0 7201, g )

36 |36x*-9(x+2)°=0 (6x-3x-6)(6x+3x+6)=0 7=(_ % 23

37 |25(x-1)%-9(x+2)*=0 (5%-5-3x-6)(5X-5+3x+6)=0 7=(_ 1 5 1 )

38 |2x%|x|-15=0 2x°+x-15=0 lub 2x*-x-15=0 z:{-3,%} :

39 | (x+1)%2[x+1+1=0 X“+4x+4=0 lub x°=0 Z={-2,0}

40 | |x? - 2x/=x*-2x z={0,2}

41 ‘Xz —]HX—]JZO z={-2,0,1}

42 [ x2-6x|+5=0 X“+6x+5=0 lub x*-6x+5=0 Zz={-5,-1,1,5}

43 [ x2+4x+|x +2|=16 X°+3x-18=0 lub x°+5x-14=0 |Z={-6,2}

44 1 |x2 —g=9-x? Z={-33}

45 | x* -1 +[x+1=0 z={-1}

40 \/EXZJF‘/E_Z;(_Z:O A:4+4\/§+2=Q+\/§E z={-1,42}

47 | 3x? + (B +1x+1=0 A=341-203= (-3 z:{-1,—§}

48 (4_§J2—5(4—§j+6=0 4_§:k x#0 Z={§,3}

49 |[x? -5/ =1 x*-5=1 lub x*-5=-1 7={/6,-6,2-2}

50 |x2-5x|+4=0 X°+5x+4=0 lub x*-5x+4=0 Z={-1,-4,1,4}

51 | 2x%+|x|=1 2x°-x-1=0 lub 2x°+x-1=0 7= % _ % )
~~ ~ 2 — —

52 | x¢& 2+ 4 x(<4—8/+ o X*-16x=0 Z={0,16}

53 | (x+4)*+(x-1)’=17 2x°+6x=0 7={0,-3}

54 | (x+5)(x-5)=24 Z={-1,7}

55 | (x+3)°=x’+27 z={0,-3}

56 | x°-64=(x-4)° Z={0,4}

57 |3(x-3)°-(13-x)=3x(x-1)+14+x* |x*+14x=0 7={0,-14}

58 | X +4x%+3=x(X-2)*+7x 8x*-11x+3=0 A=25 7= g 1

59 |-4x+8=-3x"+5x+2 X2-3x+2=0 A=1 Z={1:2}

60 |(x-1)°+(x+2)°=5 2x°+2x=0 z={0;-1}




